New Maths GCSE: N14 - Best Estimate to Calculations

Which of the following would be the best
estimate to the true answer of:

9.7 x98

10 B 100

1000 g 10,000

Which of the following would be the best
estimate to the true answer of:

23 x 48

100 B 1000

10,000 g 100,000

Which of the following would be the best
estimate to the true answer of:

827 x 190

1600 B 16,000

160,000 g 1,600,000
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Which of the following would be the best
estimate to the true answer of:

psitas ol

Which of the following would be the best
estimate to the true answer of:

0.0354 x 0.32

0.001 B 0.01

Which of the following would be the best
estimate to the true answer of:

231+ 4.2
500 B 50
5 g 05

2000 B 200
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Which of the following would be the best
estimate to the true answer of:

97.5 + 482

|2 g 0.2

Which of the following would be the best
estimate to the true answer of:

0.307 = 0.518

Which of the following would be the best
estimate to the true answer of:

V1594.7
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Correct Answer: ABCD
Explanation:
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Explanation:
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